STAT 106

EXERCISE 8
1. In a certain hospital, the number of patients admitted per week has the Poisson distribution with mean 7.


(a)  Find the probability that on a particular day, 



     
      (i) no patient is admitted by the hospital, 

      (ii) at least two patients are admitted by the hospital, 


(b)  How many patients is the hospital expected to admit in 


     
       (i) two weeks, 
(ii) one month? 



2. In a certain population, it is known that the average number of deaths per year from cancer is 3. If the number of deaths from this disease has the Poisson distribution, find the probability that, from this disease, there are: 


(a) not more than 2 deaths in a year, 

(b) at least two deaths in a year, 

(c) exactly 3 deaths in a year, 

(d) exactly 4 deaths in 4 months. 

3. In a certain population, an average of 6 new cases of breast cancer are diagnosed each year. If the number of new diagnosed cases of this disease in the population follows the Poisson distribution, find the probability that, in this population, there are:


(a) no new cases of the disease in a year, 

(b) at most two new cases of the disease in 6 months. 
4. If Z is N(0,1), find
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5. Let Z have the standard normal distribution. The value of z such that 
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Find the following z values:
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6. Find the 
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7. If Z is N(0,1) and 
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, find the value of 
[image: image21.wmf]a

.
8. Assume that the average number of pus cells found in the urine of a  healthy person is 2 per one cm3. If the number of pus cells in the urine of a healthy person has a Poisson distribution, find the probability that there are:


(a) no pus cells in one cm3 of urine,


(b) at most two one pus cell in 2 cm3 of urine,


(c) two pus cells in 
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cm3 of urine. 


_1147211126.unknown

_1147211514.unknown

_1147211640.unknown

_1147212100.unknown

_1147301776.unknown

_1147301869.unknown

_1147301683.unknown

_1147211955.unknown

_1147212025.unknown

_1147211729.unknown

_1147211515.unknown

_1147211331.unknown

_1147211513.unknown

_1147211190.unknown

_1143496897.unknown

_1143557584.unknown

_1143557898.unknown

_1147210336.unknown

_1143497000.unknown

_1143496770.unknown

_1143496817.unknown

_1143496586.unknown

